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QUESTION 1

In a vSphere High Availability (vSphere HA) cluster, which condition can be detected by datastore heartbeating?
(Choose the best answer.)

A. Fault tolerance virtual machine (VM) failover

B. Network isolation

C. Virtual machine (VM) disk failure

D. Datastore All Paths Down (APD) event

Correct Answer: B

Reference:
https://docs.vmware.com/en/VMware-vSphere/6.5/vsphere-esxi-vcenter-server-65-availability-guide.pdf

(19)

QUESTION 2

An administrator is investigating the reason for a powered on virtual machine failing to migrate with the following error
log message:

The virtual machine requires hardware features that are unsupported or disabled on the
target host.

CPUID details: incompatibility at level 0Oxx register ‘xxx’

Host bits: XXXX:XXXX:XXXX!XXXX:XXXX:XXXX:XXXX:XXXX
Requl red: XXXX:XXXX:XXXXIXXXX:XXXX:XXXX!XXXX!XXXX

Which step should the administrator complete to resolve this error? (Choose the best answer.)
A. Configure High Availability on the cluster.

B. Configure vSAN on the cluster.

C. Configure Distributed Resource Scheduler (DRS) on the cluster.

D. Configure Enhanced vMotion Compatibility on the cluster.

Correct Answer: D

Reference: https://kb.vmware.com/s/article/65151

QUESTION 3
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A company has a vSphere environment consisting of the following characteristics:

1.

A content library named ‘CORP’ is published at corporate headquarters on a vCenter Server named ‘vcenterCorp’.
2.

A regional data center contains a set of hosts managed by a vCenter Server named vcenterR1.
3.

vcenterR1 subscribes to the CORP content library.

The administrator wants to create a new virtual machine image to use on vcenterR1.

What are two possible ways the administrator can accomplish this task? (Choose two.)

A. Configure vcenterR1 to download all library content immediately.

B. Upload the new image to the CORP library on vcenterR1.

C. Publish the CORP content library on vcenterR1.

D. Upload the new image to the CORP library on vcenterCorp.

E. Upload the new image to a local content library on vcenterR1.

Correct Answer: BD

QUESTION 4

Which two features are only supported by VMFS6 datastores? (Choose two.)
A. Concurrent access to shared storage

B. On-disk locking

C. Dynamic expansion

D. 4K native storage devices

E. Automatic space reclamation

Correct Answer: DE

Reference: http://www.vmwarearena.com/difference-between-vmfs-5-vmfs-6/

QUESTION 5

Which VMware feature should an administrator configure to help manage and delegate CPU and memory resources?

2V0-21.20 Practice Test | 2V0-21.20 Study Guide | 2V0-21.20 Exam Questions 3/4


https://www.geekcert.com/2v0-21-20.html
https://www.geekcert.com/2v0-21-20.html
https://www.geekcert.com/2v0-21-20.html

VCE & PDF https://lwww.geekcert.com/2v0-21-20.html
2024 Latest geekcert 2V0-21.20 PDF and VCE dumps Download

GeekCert.com

(Choose the best answer.)

A. VMware Enhanced vMotion Compatibility (EVC)
B. Resource pools

C. vSphere Distributed Resource Scheduler (DRS)
D. vSphere High Availability (HA)

Correct Answer: B

Reference: https://docs.vmware.com/en/VMware-vSphere/6.0/vsphere-esxi-vcenter-server-601-resourcemanagement-
guide.pdf
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